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Time allowed for the test: 50 minutes
HIEmEFfE - 50 57

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
guestions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. The number of views of a video 1. - PIARAE E’?’?ﬂ'{'ﬁ THOBITINED
was four hundred and eighty Birisiw L Ng T AR- Bk
thousand when corrected to the ¥ oy AGEARAE 0 e stk ?
nearest ten thousand. Which of the
following numbers can be the
actual number of views of the
video?

A. 473 580 Four hundred and eightyfthousand ~ A. 473 580 -+ N g 480 000 o
is 480 000. fo A EEBTINEL F
Corrected the options to the
I 482900  (carest ten thousand: I 482900 Q ;gg 888
A. 470000 C. 490 000
C.486 610  B.480000 C.486 610 p. 4800000
C. 490 000
D. 4799 000 D-#800000 D. 4 799 000

2. Which of the following has the 2. TR FEenE Rk D

largest value?
l 4.2x1.6  Compare options A l4.2><l.6 paEsE Afe C
and C, eliminate C. 7 “$ C-
B.3.7x1.8 Compare options B B.3.7x1.8 RiER Bfe Do
T ' and D, eliminate D. T ' pI's D
A 4.2x1.6=6.72 -
C.0.42xX1.6 B 37x6-666 C.042>1.6 A i2d6-072
D. 0.37x1.8 D. 0.37x1.8
BATHEAIN & (] 5) 3



Fruit Subscription Plan
K& TR

Price per box

Total number of subscription days

F£E8W RETHER K
$36 18
3. Mrs Ho has three children. If she 3 P2 ZBFA o drk b
subscribes fruit to all children AR S/ SRRt ¥ a2 O
according to the above plan, how S TN
much should she pay in total?
A. $108  She should pay A.$108 &£ HHm
36183 36183
B.$648 ~*1 B. $648 %194
C. $1544 C. $1544
Bl 51044 Bl 51044

4. Each plate can hold 13 dumplings.
The chef made 186 dumplings. How
many plates did the chef need at
least in order to hold all the

dumplings?
A. 13 18613
= 14(plates)...4(dumplings)
B. 14 15 plates were needed at least.
85
D. 16

4, & B4+ 7 5 13 A o Brir
T3 186 BaL+ » B> F R4S
B AR AT

A.13 18643
= 14(1#)-+-4(#)
B.14 &"7%&#%+15%

Bl s

D. 16




5. A school will distribute 2 boxes of
mooncakes to each teacher to
celebrate Mid-Autumn Festival.
There are 76 teachers in the school
but only has 98 boxes of
mooncakes. How many more boxes
of mooncakes does the school need?

A. 152 The school needs

2x76—98
I 54 = 54(boxes)
C. 27
D. 22

5. Br i BALY & ¥ B EfF
2 T e BRE G T6
B e M IEHE T 98 £ % Ao B
BFRI AL

A. 152 Hwiger s

2x76—98
Blss =)
C.27
D. 22

6. There were Z%kg of chicken in the
fridge originally. After Miss Chan
2 1
used gkg and 7kg to cook lunch

and dinner, how much chicken was

left?

A ;—gkg )
13 =t
B. 155kg 121 g of chicken was left
Bt
D. 2;—gkg

. 3.
6. ki ERG ZIkg FER o U 4E
2 1 L
# gkg qfr'?kg 2 34T E ot
Bis o BETIHE F0?

A %%kg ]
13, Y%

B.120K0 4 i, 1550 -

B35

D. 2;—8k9




7. The following figures are two
regular hexagons of the same size.

7
/
S
S
S
;o
s
'
1
'
'
'
'

If each stands for 1,

what is the value of the sum of the
shaded parts?

7 5 6 11

A 1ﬁ 12712 T 12

8. What is the result of adding up all
the factors of 35?

A. 12 The factors of 35 are
1,5, 7 and 35.
1 7 =4
B. 13 +547+35 8
C. 47

Bl ss

8. 3¢ 35 theid Flficdp 4 i %
o (?

A.12 35c5F#EG 11-5-7435-
1+5+7+35=48

B. 13

C. 47

Bl ss




9. Find the H.C.F. of 60 and 108.

A. 4 2 (60 108

2130 54
3115 27

B. 6
5 9
B |
The H.C.F. of 60 and 108 is:

D. 18 2>2>3 =12

9. $60 4~ 108 " H.C.F. -

A 4

B.6
Bl

D. 18

2 (60 108

2130 54
3115 27
5 9

60 - 108 7 H.C.F.4_:
25053 = 12

10. There are 96 buttons in each pack,
7
17 of the buttons are red. How
many red buttons are there in total

if there are 14 packs?

7
A. 40 967514

- 784
B. 56 There are 784 red buttons in total.

e

10. = ¢ {r};_;fr"ﬁ 967}:'_’ :,El v 12 TFFL“J_

§tho 4okt 14 ¢ bode s £ 4

fd dade 5 U7

A. 40

7
96><§><L4

=784
LG 2 fde T84 o

F

4
11. Awire is 38§m long. If the wire is
: : 1
cut into pieces of me long, how
many pieces of wire in equal length

can be cut out at most?

A 16 3oy

1
I 17 =175

17 pieces of wire in equal length
C.19 can be cut out at most.

D. 20

11.

- i££ 38

4

4

5

S

o1
EmE A - ok ST

CEERARE SURRY

A. 16

I17

C.19
D. 20

4 1
38527

11
=175
LATUVAITRER

10 R AR o

get

m e > 4ok s v
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12. In the above figure, how much
water is there in the container?

A.160mL Thereis
8005>8

B.480mL ~mb)

C. 1000mL
Bl 1280mL

800mL

12. LR FEMG RGO

A.160mL #&Er Gk
800-5>8

B. 480mL  ~1%0(mb)

C. 1000mL

l 1280mL

13. Arrange the following three

numbers from the smallest to the

largest:
32

9 '

7

4,312

c4<3-

A. 12

C.3L<2<4

12 9

7 32
D'4<312 <7

SIS

7
<312 <4

13. 3o 0T = B#cd ) 3 X BEF

943
A2 serl
B2l <
C.B% <%2 <4
D.4<3% < %




14. There are 31%kg of apples in the
fruit shop. The apples are 5%kg

heavier than the peaches. What is
the total weight of apples and

peaches?

A 68ikg The total weight of apples

1 and peaches is
3 3 2

9 315+ (@Bl —57%)

B. 581—0kg 4 M
=585 (ko)

I 58~k

109

1
D. 571—Okg

3
14. K% k5 # % 31Zkg IR
2
5€kg ok & BN E G ot

5509

9
A. 687 g Kg kg A e

R R IE
B. 581_0kg - 58%(kg)
1
I 581—0kg
1
D. 57 5kg

15. Which of the following
descriptions about quadrilaterals
must be correct?

I. All rectangles are
parallelograms.

I1. There are four equal angles in
a rhombus.

I11. A trapezium has only one pair
of opposite sides parallel.

A.land Il only

Ilandlllonly
C. Il and Il only
D. 1, Il and HI

15. T F|oRit B3t if A dndy dE % T

I FE?

P N R I T Y [
l. TP £ AT 1§T|/

<> Il % 7)ehe & 4p %

NI 255 F - 2fd T

A 23 1211
- IEERER
C. 54 IZ N
D1~ 112 1




5cm 5cm
0 N 0 N
5cm 5cm
5cm 5cm
0 N N
5cm 5cm

16. Which of the following figurescan | 16. * + B ¥ e BE'EE 4 = &)
be formed by using four isosceles oA T g A5 9
right-angled triangles as shown in
the above figure?

|. trapezium I, l. 2
I1. triangle I I = &7
11. parallelogram I, T 7w 82
A. l only . A 3l
B. I'and Il only B. #5 I 2 1l
C. Il and Il only C. vz Il 21

Bl iand Bl onzm




/

24cm
N /
) 50cm i
17. In the above figure, the circles 17. F B¢ » & 3 A5p 495 Fla= o]
inside the rectangle are of the same AF’K ik o & BRlenL =8 % 5 7
size. What is the radius of each
circle?
A. 12cm The radius of each circle is A.12cm # BRI
2422 2422
B. 10cm = 6€m B.10cm =6(m)
I 6cm I 6cm
D. 5cm D. 5cm
e
_.
18. In the above figure, when Ben 18. Y Bl® o F 2 HiTI A BET
arrives at the junction, he will turn o g T T
left and walk on. In which direction TR S b (79

will he walk then?

A. south A =
B. north B. #
C. southeast C. im
l northwest l g A

B ATALAH % (] 5) 11



X X
Allen Tina
X FERR
X X X
Maria Gary Ben
£ 5AZ S
Her!ry>< N Nora )/
e =0 L ul N

19. If Gary is in the west of Allen, who | 19. 4c% 5 & & L & hd >

bt dgent e 9

» FRPEZR

IS in the northeast of Gary?

A. Tina A. FEm
IMaria I RS
C. Ben C. P =
D. Nora D. 3+

A N 12cm

12cm

20. In the above square, what isthe area | 20. A} Blent = 259 » JEFI30 4 0
of the shaded part? mAEAES D

A. 288cm?  Triangle B and Triangle C have the A.288cm? = £ B{-Caia{rip
same base and height, so they have £ %G s pE o T
B. 184cm? the same area, so the area of the B. 184Cm?2 B0 A ihn ff %00 =

' shaded part is equal to the total area ' £2) Afe C i 4 o

5 of triangle A and triangle C. 2 EEIRA hg A R ‘
144Cm?®  The area of the shaded part s 144cme R T A
(12+12)x12+2 (12+122)><1272
D.72cm? = 144(cm?) D. 72cm?  © 144(cm?)
BATREAIM & (] 5) 12



21. The above solid is formed by cubes

with side 2cm. What is the volume

of the whole solid?

A. 18cm?
B. 36cm?®

The volume of the whole
solid is

23229
=72(cmd)

7
T

21. 11} e dEd 5 L 2cm el

SR A o B R AR S
L9

A.18cm3 i R R A
2505059

B. 36cm3 =72(cm?)

C. 64cm?

5cm

22. The above figure is formed by a

small square and two trapeziums
with the same size and shape. What
IS the area of a trapezium?

9=33

Each side of the small square

is 3cm.

The area of a trapezium is
(3+5)<5—3)=2

=8(cm?)

22,

RS - B D Ao B4

oA AR e A e A . E

ATECE S S

9=3x3
3 AjEng £ 2 _3em o

B.12cm? * B AL
(3+5)<(5—3)=2

C.16cm2 = 8Cm)

D. 32cm?

13



$im

2m

Garden

=

< 10m
2m

$im

23. A garden is in the centre of a piece

of rectangular grassland of length

20m and width 10m, as shown

above. 9 roses can be planted per

square meter in the garden, how

many roses can be planted in total?
A. 1800 Thereare

9x(20—2—2)<10—1—-1)
= 1152(roses)

20m

23.

~ £ 20m > B 10m ¢hE S A5
BB - B et B
IR T AT O it
Mo E T AT G SR 9

A. 1800 7 fEfriest
920—2—2)10—1-1)

B. 1440 ~152(14)

Bl 1152

D. 648

24,

The perimeter of the rectangle is
56cm. If the length is 3 times the
width, what is the area of the

24,

£ 3 A500% i E_56Cm - 4ok £ B
FRAREMI B

HE59

BB S G

rectangle?
A. 98cm? Thesum of the length and wigith of the A, 98cm? & * /& R & B A 2 fri:
rectangle is: 562 = 28(cm)
» 562 = 28(cm) I 2 EAmERLRASNIE
I 147cm The length of a rectangle is 3 times its 147cm TR RICR R 2 feE B A
width, so the sum of the length and 4 o
C. 294cm? width is 4 times the width. C.294cm? .7 .. ...
- . AR R
The width of the rectangle is: )
A 28-4 = 7(cm)
D. 392¢m? 2874 = 7(cm) D. 392cm?

The area of the rectangle is:

(7>3)>7 = 147(cm?)

£ Ay gL

(7>8)%7 = 147(cm?)

14



25. In the above figure, what is the area
of the shaded part?

A. 136Cm?2 The area of the shaded part is

A. 136Cm? %A e g L

(4>3)>(4>2) + (4>R)>4-2>Q (4>B)>(4R) + (4>)>4
2 H(4X3)42 2 2R+ (43)42

I 152cm< _ 152(cm?) I 152cm? _ 152(cm?)
C. 176cm? C. 176cm?
D. 208cm? D. 208cm?

4cm 4cm

> le>

20cm
5cm 20cm
30cm

26. What is the volume of the above
solid?

A. 4200cm? The volume is
30520520 — (30— 4—4)

B. 4500cm® 2020 -5)
= 5400(cmq)

I 5400cm?

D. 6000cm?

26. Bl MR A5 0 9

A. 4200cm?® g 2
30520520 (30 —4—4)

B. 4500cm? >0x20-5)
=5400(cmd)

I 5400cm®

D. 6000cm?

15



Sales of Highlighters in a Stationery Shop in the Past Five Days
* ERiEd T R T g §
Each m stands for 1 highlighter

= B - A
Sunday
E8p
Monday
-

& Tuesday

Q= ay-
Wednesday
8=
Thursday
Edw
27. Each highlighter cost $18. 27. &g £ L eh 8 iy £.$18 o 4245 1
According to the above chart, how Bl 2 E i3 T 2 Edgks
much could the stationery shop get EfTiBARIE 59

from the sales of highlighters in the
past five days?

A. $504 The stationery shop could get A. $504 =@ iR
18%(8+6+3+5+9) 18>(8+6-+3+5+9)

B.$522 =8 B.$522 = 9558

C. $540 C. $540

Bl $555 Bl s555




Number of Students Who were late in the Past Five Days

W3 T XA PF 4 A g

12 D Boys
S — — Girls
=] = 8 4
& | -
5 15‘ 6
D B ] ]
Eaw ‘[ |
>
z 2
0
Monday Tuesday Wednesday Thursday Friday
5 ¥ - P31 5= e BT
Day
p3
28. The above graph showed the 28. F BIHiEL T BN E 4 L

number of students who were late
in the past five days. Which day’s
total number of students who were
late was exactly 2 times the total
number of students who were late

on Thursday?

l Monday
B. Tuesday

C. Wednesday
D. Friday

Monday: 5+ 9 = 14(students)
Tuesday: 6+ 4 = 10(studlents)

j@;o\?}’fg-—%é‘ﬁ

Hws2i?

Bin-

Wednesday: 847 = 15(students) B. & #j -
Thursday: 3+ 4 = 7(students) T
Friday: 4-+5 = 9(students) _
7> =14 C. 2=
So the total number of students who

were late on Monday was exactly2 D. & #P 7

times on Thursday.

| A k] AR

R - 15+9=14(4)
B 1 6+4=10(4)
L= 1 8+7=15(4)
e 1 34+4=7(4)
EH T 14+5=9(1)
750 =14

B8P - e D] A Bk
TR ch2 2o

17



Number of Stamps Collected by Abby
G ECE I L B

30
8 25
E 20
(-D N
5 15
8w 10
ER 5
= 0
Flower Landscape Animal Character Type of Stamps
i B F # 4 A g 2L fE
29. Among the stamps collected by 29. FE gL ¢ > B ERE o
Abby, what fraction of whole B BRI L a2 A9
stamps are animal stamps?
2 The fraction is 2 Lakid b N
A. 3 30 A. 3 30
20+15+30+10 20+15+30+10
3 _2 3 .2
B. 5 5 B. 5 5
E E
5 5
1 1
D. 3 D. 3
P P
30. If 5P = 105, then 3 = ? 30. 4r% 5P =105 ?Kﬁzg =9
A.3 5P = 105 A.3
5P 105
- K T =5 - K
P=21
C.21 P_2a_, C.21
37 3"
D. 63 D. 63

End of Section A

B2



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

z 3 (40 &)
GRS o B R
41—:“L'§EH’-‘% o

;IJ"IF -t

31. Monica has a story book with 96
pages while Kate has a novel with
178 pages.

(a) Monica read m pages of story
book each day. How many pages
were left after 15 days? (Give
the answer only and express the

answer in terms of m) [2 marks]
(96—15m)

(b) Kate finished reading the novel
in 20 days. During the first 18
days, she read n pages each day.
On the last two days, she read 8
pages each day. How many
pages did she read on each of
the first 18 days? (Use equation
to solve the problem and show
working steps) [4 marks]

18n+8-+8 =178

n=9
She read 9 pages on each of the first 18 days.

31 At - ~ 96 F ekt d - ME
$ - 178 F ] o

(@) Aracs 2 5%TE mF 15

:&?g’ 1?%—[&1%3")??
2F (R ABNER EEN
m % 7) [2 ~]
(96—15m)

—
n\

(b) MpF* 20 = g rizh |

m{‘{

T IEGRTE
A
F20R™ > Are§)

18n+8-+8 =178 [4 ~]

n=9
¥ hH 18%41%'—%‘,»]‘3‘&9’;?0

19



32. (a) There are 304 members in the 32.(a)
: : 11

Fire Acrobatic Troupe, 16 of
them are male. How many

members are female?

11
3041 —7¢ [4 marks]
=95
The number of female members is 95.

(b) The Fire Acrobatic Troupe sets (b) Z
‘; }(E‘b 9 -&L—v—f }%]b"—i—fr, o ‘; Fl'b

a stand on the stage, as shown
below. Each step of the stand
has the same width and same
height. What is the volume of

the stand? [4 marks]
2.5>0.4>0.5>6

=3

The volume of the stand is 3m?.

Zse g BE 4 X R 304 4
11
ﬂﬂﬁ{s’t]‘;,—gt]‘i”ﬁ ?’l)
L9 [4 ~]
3041 —T¢
=95

L4 95 4

eHBEHCKE T - B

N

o

1.
S

PO Y STE IS St

BB o fpaBpE A 7

2.550.450.5>6 N
: [4 4]
5 R R A 3m?

1.5m

0.5m




33. The following table shows the
lengths of three ribbons.

33, T LB Z LA LR .

Colour Length (Each Roll)
B¢ ER(F %)
Green 7

%4 10

Red

e g 4m
Yellow 35

% 4 8

(a) Jenny and 4 friends made bows
together. 5 people used 3 rolls
of red ribbon in total. How
many meters of red ribbon did
each person use on average?
(Give the answer only)

2
25 [2 marks]
Each person used

4535

= 25(m)
(b) According to the above table,

which colour of ribbon has the
longest length? Explain.
[4 marks]

The length of green ribbon was: 4%Om = 4ﬁr

(@) FHArd =9 5 — A= Ty
W o5 x*d 3K i
Ao Tag A 4 2 d A%
PR ERNER) [24]

2
25

T iak Ak i d oA

4535
2
= 25(m)

(b) 1245+ % »vi— fhgFd chin
AE R 2 [44]

] 7 28
B4 5k R A dqgm=47am

4 ¥ kB2 4Am;

The length of red ribbon was 4m.
The length of yellow ribbon was:
s _,3 _,15

m=4 gm= 4 20M

8
35 7
4< 8 <4 10
(Accept any other reasonable explanation)

Green

. 35 3 15
20 FF A PR AL gm=dgm=47am;
35 7
4< 3 <47
(B £2izfs ¥ 5&X)

21



Number of New Members of Fitness Center

L P s nET e B A i

50 £
o = Mﬁf
3 40 | 7
§7 - Female
§ E 30f L
D o [
e= 20
— o5 —
D = —
S% 10
3 :
Z [
0
March April May June Month
B oz 2 ; =0 LIS
34. (a) In which month did fitness 34.(a) P VR B F RT g A A

center have the largest number
of new members? How many
new members were there in
total? (Give the answer only)
May, 78 [2 marks]
March: 22+ 32 = 54(new members)

April: 30420 = 50(new members)

May: 34+ 44 = 78(new members)
June: 34428 = 62(new members)

(b) If the number of new members

in @ month was 60 or above,
each employee would be
awarded a bonus. How many
bonuses were awarded to each
employee from March to June in
total? (Give the answer only)

) [2 marks]

The number of new members in
May and June were more than 60.

]

v 1 22432=54(4)
v :30420=50(*)
V34444 =78(4)
v 1 34428=62(4)

DIV SN = B EY T SN

22



34. (c) The new members have to pay a | 34.(c) #7¢ B & » g BPRMMER
membership fee of $125 in the BS125 gEEL P w hw T L
first month. What was the total HeHRp s [4 ~]
membership fee did fitness 125(30+20)

=6250
center get in April?  [4 marks] AP fw ) £ € R % $6250 o
125%(30 -+ 20)
= 6250
Fitness center got $6250 in April.
50cm

35. (a) The above figure is made from
15 rectangles of the same size
and same shape. What is the
perimeter of each rectangle?
(Give the answer only)

80 [2 marks]

The width of each rectangle is:
(50—30)=2 = 10(cm)

The perimeter of each rectangle is:
(30+10)>2 = 80(cm)

(b) What is the area of the big

rectangle? [4 marks]

30>3>50
= 4500

-
30cm

35.(a) + ®ld 15~ oAkt e

E A e o & AR

80 o

F L AR =

(50—30)=2 = 10(cm)

EBLE A0 R

(30+10)>2 = 80(cm)

(b) &= e 4 L5 2

30>3>60 [4~]

=4500

* & 2 A e ff £ 4500em?

The area of the big rectangle is 4500cm?.

23



36. A box of ‘Happy DIY’ contains8 | 36. — £[£-% DIY]3 8 ﬂ‘:f_’ia/%ﬁaﬂfr 12
plastic balls and 12 plastic sticks in =% H? 445 £ 12cm >
which 4 of them are 12cm long each Hren % £o6em o
and the rest are 6cm long each.

Q ) Q ) Q )
0 ) Q ) Q ) Plastic Sticks
Happy DIY |:> Q ) Q ) @ )
#-# DIY ) . ' ) Plastic Balls
0000000 Wk
(a) Mandy used a box of ‘Happy (@) ¥kt - £14 F'w DIYJ/F’? = -
DIY’ to make a cuboid. On the BE>MWe AFRAL > F
answer sheet, draw the net of B VRS mft;*,,,a@ﬁ» °
that cuboid. [2marks] | [ | [2 ]
| |
‘ (Accept any other correct answer)
L feem (M nmEE AL TR
(b) If the cuboid is changed into a (b) ﬁr% PR i MiLpra -
cube, how many plastic sticks B> oA EFRYB S
will be needed at least? (Give CER2((FERIER) [24]
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4,6 the answer only)  [2 marks] Brm BD AT R 12HE R AN R -
It needs 12 plastic sticks in equal length to make a cpbe. .., £ 126m SR g BT R 1”2_4 - 8()
If plastic sticks with 12cm long are used, it needs: . L e e NN
12 —4 = 8(plastic sticks) FHE6em R VBT & D 12-8=4()

If plastic sticks with 6cm long are used, it needs:
12 —8 = 4(plastic sticks)

(c) Ken bought 4 boxes of ‘Happy () % Zpt% 7 4 £ -2 DIY]-
DIY’. If a box of ‘Happy DIY’ b % & ﬁﬂ#é&? D|YJ%$9i,
costs $9i how much did BEFHFE2(R R
he pay in total? (Give the *) 39%%/ [2 /v\]
asrésivver only) [2 marks] w 9#%:

He?)aid = $39%
9%24 End of Test Paper
= $39% Bl S 2

B ATALL|H £ % (] 5) 24



